H & 0l & AHS B Ml A

SN ALDED
M XSoHe
el HEdd =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FaFSNME==y, 32,737,119 28,425,158 4,311,961
= 1,138,050
[ 6,993,000
Il 74,147
< 2,904,623
= 21,627,299
INRP 10,918,703 9,280,673 1,638,030
= 780,000
= 143,579
= 9,99%,124
A8y =8 1,063,509 1,104,156 A50,647
= 3,579
Ea 1,049,930
A8y 44,542 42,274 2,268
201 er2 3| 14,862 12,594 2,268
01 AtR2te|HI 8,412 6,144 2,268
OnasEes =7 A
9,000 8+ 122 +8L 6,912
O=eZns AIES M
1502 %10,000H 1,500
2 35234 6,450 6,450 0
O =L NIHAMU RANEx
150,000 #4374 2 6,450
202 04| 7,680 7,680
01 2K 7,680 7,680
Odegex=d & =3 I=54|
20,0002 «8H 12 x4 7,680
203 HR=H] 2,000 2,000
03 A=A R =AH] 2,000 2,000
OAH&ddggd: A 2,000
401 Al HIZ S 0HbI 20,000 20,000
01 Al&H| 20,000 20,000
O =HAIHE X
10,000,000 *29H 2= 20,000
=2 |X2el 827,658 834,152 6,494
201 et 3| 297,608 288,802 8,806
01 At22t2l] 114,645 110,405 4,240
OHla22 SAMHI 9,0003*208 12 2,160
OSHUE Zefx=0L 72
5003 +6,0000HK 3,000
O&oliti® Meg 28
250,00021*10H 2,500
O=Z2LARAL 2 1,671
-8 SRz 55,900 * 1204 & 671
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FAN AZUSH
M XSoHe
el HEdd =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—22E 7Y 1,000
O8uxteg &xtz
5,350,000 «3& =4 CH 64,200
OL=Z3HIE 423 17,964
—LBADE 1,864
—0=2 18,000 »100H 1,800
—USHEHIXE HM=01g
800,000 x2%& 1,600
—=40 M=J1d 350,000 3% 1,050
—JIHSE 50,000& * 107K 500
EaEONE= == 35,0002 *10H 350
—H&J Negd 260,000 «30H 7,800
—16E HAE X ADE P 2,000
—AJERH A2E 7Y 1,000
OS2HUIE M2 L FH| HIIFY 228 250
OT2&H % S0 Hei= 79
300,000 3 900
OL=Z FHIE X ME(1715 1556) HIER
1,500,000~ 128 18,000
Otl2B8Ns(c22d)
1,000,000 x224 %23 4,000
2 s5=34l 182,963 176,397 6,566
Oam)| =ME5FA 1,500,000 *2CH 3,000
O=22e| AR 6,760
—ROIZHIAIAR (CAPS)EH =
135,000« 12& 1,620
—&3e= 30,0002~ 12 360
—QlHY AE= 40,0002 123 480
—&IIR3 3,400
— A7 50,000& * 122 600
—aol= 23 25,0002 12 300
OM=II € JIHE B»F ¢
1,526 *50L+3CH 7 & 1,603
Oxtg =&U 69,894
—EXEH 1,526& x350L*40H = 12 25,637
—=21| 1,526& 200104« 12 3,663
—AEES X
1,526 *300L+2CH* 123 10,988
—U=8ssX
1,526 »200L+ 101~ 128 3,663
—gZEH(2H)
1,526 *500L*4CH*4E 12,208
—AJ|E20 1,526 +300L*1CH*6E 2,747
— SIS
1,526 *300L+1CH* 123 5,4%
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FAN AZUSH
M XSoHe
el HEdd =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—4RE e 1,526 *300L+1CH* 123 5,4%
O==clH| 17,000
—EZEH 1,500,000 *4CH 6,000
— LSS 1,000,000 2CH 2,000
—U=8sEx 1,000,000 = 1CH 1,000
—=241| 1,500,000 *1CH 1,500
—AJ|E20 1,500,000 *1CH 1,500
—XEE M=JI 1,500,000 2CH 3,000
— SIS 1,000,000 1CH 1,000
—UREXNE 1,000,000 *1CH 1,000
OO i &l 4,500
—EXEH 4,500,000 1CH 4,500
OS2 L SHUBIY SFH(FLR)
1,628 x20L+0 2,931
O==dH| & &oliti®adl RA2=+ 6,000
O=2ded |R=H 1,3212+300L+7 & 2,775
OkzgX2e| =8 10,000
O3 WA=z FXl2el
4,500,000 1304 2= 58,500
206 MH=HI 124,850 124,850
01 MHZH| 124,850 124,850
Otz Satzs 250,0003 259 64,750
O&olitizA=z 150,000 +334& 50,100
Oz |X2=+ Fdot= 5,000
Sollti& 2+ 5,000
301 EtE NS 43,700 43,700
14 JIEt2d=3 43,700 43,700
ONExY FRU 24
230,000 *190CH 43,700
401 AIZHIX S0HH 335,400 330,400 5,000
01 AlZ2H| 332,400 327,400 5,000
Oz F2&=2 EHIIHY
1,000,000 *160km 160,000
OE=ZHXIE Ehl 3,800,000 «8JH 2 30,400
Oz aXE B 5,000,000& 24 2 10,000
On=XE 4X 4,500,000 *6H 2 27,000
Oz 2 =&
2,500,000 +20IH 2 50,000
O=2ANdE B
1,250,000 *400H 2= 50,000
O=MEAFINSEY 5,000
03 AIZSTHYI 3,000 3,000 0
OEZRAIZCIAY AIZR0H 3,000
405 AtatE = 26,100 46,400 220,300
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A A4S
SES MNP =

Chel: ZAIDIE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZAAH2EZH A HEAIAE 2 2e]
40,000,000& 40,000
O&=&elzla &dJIes
300,000& * 128 3,600
202 04| 5,760 5,760
01 =LHOLI 5,760 5,760
OzzRE L SAHY PP =X
20,0002 6~ 124 S 4 5,760
401 Al HIZ 2018 75,000 500,000 425,000
01 Al&H| 75,000 500,000 A425,000
OF= 3YII=HE +=8ES 25,000
O=F8I=E £AMES 50,000
TAIHS OO0l & XIEdH 29 34,000 47,642 13,642
< 10,000
[Ea 24,000
307 212+01& 34,000 47,642 13,642
& 10,000
= 24,000
05 2IMRIE =3 34,000 47,642 13,642
OZ AT OFJLEI0l & XI3HH 29 34,000
= 10,000
[Ea 24,000
2B=EEZE HE 22 72,880 112,080 A\39,200
201 ger= 3| 23,880 22,080 1,800
02 S3=gHl 23,880 22,080 1,800
(OFSPIETE= 1,700,000 129 & 20,400
OJHHEE (Cvadle=s
150,000 * 1204 & 1,800
Odstes 1,680
—HE 2edsRs
10,0002 *120H & 120
—dE3H dR=
130,000 * 1204 & 1,560
401 Al HIZL 201 49,000 90,000 241,000
01 Al&HI 49,000 90,000 241,000
OZLTEEE HY HEFA 49,000
CAAHE =2 ALY 201,440 371,944 170,504
401 AIZHIX S0HH 201,440 371,944 A170,504
01 AlZ2H| 200,000 370,000 A170,000
O=AHEEZ Ol=EA 2a= X2
100,000,000 100,000
OZAHEECZ FAIZ==(SIHH )
100,000,000 100,000
03 Al 2 CHYI 1,440 1,944 A504
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FAN AZUSH
M XSoHe
Chel: ZAIDIE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZAAHEEZ WS A FOHYI
200,000, 0002 *0.72% 1,440
A TAITHA At 1,300,000 0 1,300,000
= 780,000
= 130,000
s 390,000
401 Al HIZ 01| 1,300,000 0 1,300,000
= 780,000
[ 130,000
T 390,000
01 Al&HI 1,300,000 0 1,300,000
OFAH TAITHA HWALE 14
1,300,000,000& 1,300,000
= 780,000
< 130,000
Ea 390,000
HESEdH 2 SRIMNELSHH 29 93,000 0 93,000
101 @124H| 31,000 31,000
MU ORINZENSES 31,000 31,000
O0i=8dlH & sRINEYEH 224
2= 31,000
201 etz 3| 35,000 35,000
02 S3=gHl 35,000 35,000
OO0l=28dH & SR3NEday 24
& 2l 35,000
405 AHaHE S 27,000 27,000
01 TR ESF SHI 27,000 27,000
O0=8dH & SRINELIH 2357
= 27,000
A 2302 TAIHY AN H & =& (XHA) 80,000 80,000
401 AIEHIX R0 80,000 80,000
01 AlZ2H| 80,000 80,000
OFAH 2310t TAITHA QIFALY HIE
=8 89 80,000
KIS AL 7,917,780 5,132,333 2,785,447
NSt EA 300,000 300,000 0
401 AIEHIZL 0] 300,000 300,000 0
01 Al&H| 300,000 300,000 0
OF = 60,000
—nENS JIEdEEXSA 20,000
—otE OIS OtABEE I A 20,000
— T2 A X SAH 20,000
ObtNH 20,000
— K0S =2 &AM 20,000
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FAN AZUSH
LRSIt
Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oggH 40,000
— OIS =24 X SA 20,000
—FS0ts SZZESAM 20,000
oAH 60,000
—22s 2L XA 13,000
—UE=Z2EYESA 7,000
—SaHH=2 4 X S A 20,000
—ESH=Z2 X SA 20,000
oddH 40,000
— XM =2 IS Al 13,000
— 0l OI=A=SA 7,000
— =S ZHIAM 20,000
OAgd 20,000
—SHSOIAZELESAL 20,000
OH=H 57,000
—2AZHH=2 L XS A 20,000
—ISOISIIELE XIS A 27,000
— DA ==2 E XIS AL 10,000
OXIFIHL=SAIE AIER0H8I 3,000
SEHSFEXAAL 119,360 120,433 A1,073
401 AIEHIX SO 119,360 120,433 1,073
01 Al&H| 117,360 119,433 A2,073
od&H 117,360
—EBAIIEHEER &2 EESA 29,340
—FASRLEXISA 29,340
—OISE2 IS A 29,340
—&DI0l2 ZY3HISA 29,340
03 Al S THYI 2,000 1,000 1,000
OSEHFEXAANE AEL2UBI 2,000
AU AALE 669,000 599,200 69,800
401 AIEHIZ SR 0HYI 669,000 599,200 69,800
01 Al&HI 666,000 596,200 69,800
OFSEt— 250,000
-2t &2 HEHSAL
55,000,000& 55,000
—UE0S B2 EXISAt
35,000,000 35,000
—EH 0= 02 &2 OtA2EISA
10,000,000 10,000
— 202 SSMEESA
15,000,000 15,000
—s30tS =2 EXSAt
40,000,000 40,000
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A A4S
SES MNP =

Rl XIS IHEALS (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—TEOIE S0 3A 2 52 KIS
30,000,000& 30,000
—NEDNES =2 EX3A
30,000,000& 30,000
—7E0IE =2 MAXIZA
20,000,000& 20,000
—===20I= =2 &EXI3A
15,000,000& 15,000
Ot H 165,000
=M SOtE32 A=3A
25,000,000& 25,000
—2H0IS A SXISA
20,000,000& 20,000
— 220t FXHE ZHSA
20,000,000 20,000
—SOi0tE Xz OtAE ZEISAL
20,000,000& 20,000
—AE0I2 XYz OtAE ZESAL
20,000,000 20,000
—220i2 MYZ OtAE ZEHSA}
25,000,000 25,000
—ot20t= Col3 EXIS At
10,000,000 10,000
—AE0= =2 EXI3A
25,000,000 25,000
oglgH 150,000
—S X0 AT ZAALY
150,000,000& 150,000
OF&EH 81,000
== ECE =Y
10,000,000& 10,000
—A20K2 D20 243
22,000,000& 22,000
—ZA0IE 52 THTA
18,000,000 18,000
—=s0t= =2 EX3A
16,000,000& 16,000
— X402 =2 MHEX 2 S22 =
At 15,000,000& 15,000
OH=H 20,000
— S (LAE) SFMEAS
20,000,000 20,000
03 Al 2 CHYI 3,000 3,000 0
O=CUEHU A AIESROHYI
3,000,000& 3,000
272 KIS AS 1,205,000 1,104,000 101,000
401 Al HILS0HY| 1,205,000 1,104,000 101,000
01 Al&HI 1,200,000 1,100,000 100,000
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FAN AZUSH
M XSoHe
Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Stills S22 15,000
—s30ts 2¢<XR 27,000
—3h0tS SHEXR 73,000
— 0SS =24 X 13,000
—2ZH0tE =2 £X 15,000
— W0l =2 &X 9,000
OA=H 51,500
-S4 S2RE 19,000
—0{&et =24 X 15,000
—I=eord B2 ¥ EIHEX 17,500
03 A2 2 0HYI 5,000 4,000 1,000
OarZ NSFLTAIS AERHYI 5,000
FREAAE &F 14,420 9,700 4,720
201 fer= 3| 9,620 4,900 4,720
01 At 2|l 9,620 4,900 4,720
OAZERN =Xl 2,000
O&A2et 2 2] 800
OE=E THEH MNIFES 500
OE=E =4l
9,000 x5 * 128 +8L 4,320
O8] = 200,000 x5 *23] 2,000
202 04| 4,800 4,800
01 =LHO LI 4,800 4,800
O2k sO0E 2l RIS
20,0002 x5 12 x4 4,800
&4=0l0IHA1C JHE 4,305,000 500,000 3,805,000
401 A& HIX R0 3,505,000 500,000 3,005,000
01 AlZH| 3,000,000 500,000 2,500,000
OFHHE 11054 (ESH) HESA 3,000,000
02 Zeltl 500,000 0 500,000
OHHHT 110&H(ESH) HESA 500,000
03 Al 20HHI 5,000 0 5,000
OHHBE 110SH(ESH) HESAL AIER
thyl 5,000
403 AXIEHMSAH=0ld 800,000 800,000
02 B2 S0t H2S A A 800,000 800,000
O == SlOIAIC AtUHl 23 800,000
SZAIE 2l 7,960,000 2,569,000 5,391,000
s 6,299,000
s 485,000
s 1,176,000
o SHE &2 7,960,000 2,569,000 5,391,000
[ 6,299,000
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SN ALDED
M T2 2l
=Rl 2 - SOHE &2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 485,000
s 1,176,000
e - SHEEZE A2l (X)) 565,000 304,000 251,000
201 er23 | 4,000 3,000 1,000
2 35234l 4,000 3,000 1,000
Ozt sHEEZ s 4,000
—EXNS 24Ee fuUsLSH 2,000
—=A2e Mz S 2,000
401 AIEHIZ R 0HYI 551,000 301,000 250,000
01 Al&HI 550,000 300,000 250,000
O==Z A= UL 200,000
OHgdE AMA =28 FHIAE 50,000
OAld= ot EH & B2 2AY 300,000
03 AlESTHYI 1,000 1,000 0
Oz & sHEEZ =2l S0l 1,000
e sHEER |FAZe(EX) 970,000 530,000 440,000
< 485,000
s 485,000
401 Al HIZL 01| 970,000 530,000 440,000
= 485,000
= 485,000
01 Al&H| 969,000 528,000 441,000
OfIEE2 FRMEANG (HaL SEXT) 169,000
= 85,000
Ea 84,000
ORIEER FRNLAS (H4YAIXIF) 100,000
< 50,000
[Ea 50,000
OfBEZ FZMAAMS (SSTT) 700,000
= 350,000
= 350,000
03 AIZ S THYI 1,000 2,000 A1,000
OAETZ AZHEAMS AIE20HYI 1,000
Tk - SHELZ &2 d 131,000 131,000
401 AIEHIZ SR HYI 131,000 131,000
01 Al&HI 130,000 130,000
OH= te| SEFAIY
130,000,000 130,000
03 Al 2 CHHI 1,000 0 1,000
Ok SHETZ SEZFAY AIE20H]
1,000,000 1,000
S 10 HETZ WL AL 6,304,000 950,000 5,354,000
[ 6,299,000
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SN ALDED
M T2 2l
=Rl 2 - SOHE &2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 5,000
401 AIEHIX 20 6,304,000 950,000 5,354,000
[ 6,299,000
s 5,000
01 AlZ8| 6,299,000 945,000 5,354,000
OFd H=IC HETZ e 6,299,000
[ 6,299,000
03 AIESTHYI 5,000 5,000 0
O&d &I HEEZ 4 AIZ 20| 5,000
SENHE D= 6,633,266 7,950,929 1,317,663
= 1,173,600
[Ea 5,459,666
S218H8H| 4,387,056 5,676,872 N 1,289,816
= 1,173,600
o 3,213,45%
sgole aetzd 86,920 105,872 18,952
201 fer= 3| 32,120 21,072 11,048
01 At 2t 11,820 10,072 1,748
OsgJIEE 23 A2FHY 1,000
OoRIZSX S|
9,000 x5+ 12)4 28 4,320
O=sg8+ =2 130, 0002 *507H 6,500
02 S3=gHl 20,300 11,000 9,300
OF4X Q428 U A48 HIIQ3 10,000
OM=X XS Jl4f - =9 2ZAIAHE SR
= 300
OsgIIEAE 2g2+ & dd| 10,000
202 04l 4,800 4,800
01 =LHOHI 4,800 4,800
OSEANLYR X
20,0002 x5S * 1204 S +4L 4,800
401 AIEHIZ SR THYI 50,000 80,000 30,000
01 Al&HI 50,000 80,000 230,000
OsgIIBtAE =4 oSt 50,000
IZHENTeH(sYIIBAIE &) (HEAY) 1,014,636 1,017,000 A2,364
401 Al HIZL 01| 701,000 751,000 /50,000
01 Al&H| 700,000 750,000 50,000
OZX&el =2 FHIAIE 700,000
03 AIZ2THYI 1,000 1,000 0
OZXEel Ei+==2 FHIAIE AIZR0YI 1,000
403 AXIEHHSAH=01d 313,636 266,000 47,636
02 SVI2S0 U H=E P EAIEI 313,636 266,000 47,636
02025 =gIIEAIE RAI2c| A 100,000
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FAN AZ2USH
HY: SEME WS
el sZ0|eHEH| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&=z 0IE1X7 a3 XEelAd 16,036
OZ=zZ 0l82X7 BN E MY 197,600
SIBHABI (A2l A E ) (R EHALS) 968,000 1,591,000 623,000
s 773,600
s 194,400
401 AIEHIZ SR OHYI 968,000 1,591,000 623,000
< 773,600
Ea 194,400
01 Al&HI 967,000 1,590,000 623,000
O20258 Z&tel el AMEIE At 967,000
= 773,600
= 193,400
03 AIZ2THYI 1,000 1,000 0
020258 Z2tel =CIAIZNEAIY AIER
Chel 1,000
=M TR (SE N AN ) (M EALY) 1,803,000 1,803,000 0
401 AIEHIZ SR HYI 1,803,000 1,803,000
01 Al&HI 1,800,000 1,800,000
020258 SE ==& ALY 1,800,000
03 Al CHYI 3,000 3,000 0
02025 SEHH=IHE A AIZ 20| 3,000
33X A2 IS ALY 501,000 300,000 201,000
= 400,000
o 101,000
401 Al HIZ S OHbI 501,000 300,000 201,000
s 400,000
s 101,000
01 Al&HI 500,000 300,000 200,000
OZ3X7 A72 i==IHE ALY 500,000
[ 400,000
T 100,000
03 Al 2 CHHI 1,000 0 1,000
OF=A+ L2 ti==IHE AL AIZ=0HI 1,000
g A2 Mokl 8 EXE Wi ZX 13,500 13,500
401 AIEHIX R0 13,500 13,500
01 AlZ2H| 13,500 13,500
O&=z &2 M=Al HMEXE wH £X
300, 0003 *457H 2 13,500
SE MEEd F 2,123,000 2,177,000 254,000
|ZMSOI T (MESAEH]) (ME) (HEAY) 2,102,000 2,102,000 0
401 Al HIZL 201 2,102,000 2,102,000 0
01 Al&HI 2,100,000 2,100,000 0
o205 =& Meatd A 2,100,000
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FAN AZ2USH
M SEME WS
ol =& d=ad gyl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al< = THHI 2,000 2,000 0
o205 =& detetd JHIAE AIER0HsI 2,000
FRIEOMO AL (SEAIE) 21,000 75,000 £54,000
401 AIEHIX R0 21,000 75,000 /54,000
01 A28l 21,000 75,000 54,000
(OFSESi~:) 21,000
— 230t S+ €XSA 21,000
AN B33 123,210 97,057 26,153
& & LA FHIEs 69,010 67,857 1,183
101 @124H| 69,010 67,857 1,183
M JIZtHZ2 RS2 69,010 67,857 1,153
OM==Xl 2Al2el 69,010
—&= 80,2403 x77 H 23] 12,357
—4&bA 80,2403 662 *23] 10,592
-y 80,2402 x 19 *23] 3,050
— A 80,2403 *90EH *22] 15,888
- 80,2403 x422H+23] 6,741
—Ag 80,2403 x 122 +23] 1,926
—A= 80,2402 x 115 <22 18,456
el Al =Al2 50,000 25,000 25,000
307 212+01& 50,000 25,000 25,000
02 2B HAHE L 50,000 25,000 25,000
A [l 50,000
SNl 240 RXIZE 4,200 4,200 0
201 LBt2 | 4,200 4,200
° ZZ2H| 4,200 4,200
OBl 2471 KX
600,000 74 A 4,200
wsdy Mo 6,740,246 7,697,154 956,908
= 358,050
[ 694,000
Jl 74,147
[ 1,102,444
Ea 4,511,605
WSOHH Ald=tE 1,296,772 1,968,638 671,866
= 750,000
= 546,772
SIS 389,600 466,116 AT6,516
401 Al HIZ 2018 389,600 466,116 AT6,516
01 Al&H| 387,600 464,116 N\T76,516
O==ds)| E= & WAl
56,000,000 * 14 56,000

- 614 -




AN AZUSH
. NSHE A
Rl WECHH AIZESE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OnSASI| SNE(SIHAH L)
45,000,000 *14] 45,000
OnSEAIZEE X ¥ 2==(EIHA9)
60,000,000 »14! 60,000
o8 XS 4X
10,000,000 *37H 2 30,000
OXE(=HEA) HEM S
51,600,000& »14] 51,600
OusSHdEH S €X & wA
85,000,000 * 14! 85,000
OoztoldAs2d 4R
10,000,000 *50H 2 50,000
OHASYY B+
10,000,000& » 14 10,000
03 AIZ S THYI 2,000 2,000 0
OuEStEAIE EXIAIY 20HYI
2,000,000& 2,000
FXHHE N ALS 750,000 1,103,000 A353,000
< 750,000
401 AIEHIX 20HH 750,000 1,103,000 /353,000
=S 750,000
01 Al&H| 750,000 1,100,000 /350,000
O&=5 2MA S+ ZgAY 750,000
= 750,000
nSHFXZ 11,172 99,522 11,650
201 el 104,412 89,322 15,090
01 At2telt] 20,746 18,086 2,660
OAZ SSAFA 7Y
70,0003 #48f A 280
OXSIt SARHY EA 7
90,0002 *48+ A 360
OXsxt 885 7 2003 *1,500% 300
oz=zs 7Y 402A+5,000% 200
OtEHE XM 2 703 +8,0005 560
OXZge 228 #¢ 70,0002 *207K 1,400
OR=EX It A=
100,000 * 10CH 1,000
Oustlz =8 8,000&12& %6
O0RIZ2A S4iH|
9,000 x5 * 1201 2 +8& 4,320
OfIE3s Mzl =& 70,0003 x5 H+63] 2,100
OSEF=NE ==Ma U=z
130,000 *10H A 130
OusHdEE =5+
2,500,000 *43] 10,000
02 S3=gl 83,666 71,236 12,430
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AN AZUSH
M pEHE M
oRlr WSOHM AIZEE EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OLXAM, UM S S REZ(SII)
2180213, 7005 8,066
ODXM,QUN S SXI SEE(YsH)
40031+8,000S 3,200
OULSANEE 532= & FAlZe
5,100,000& x12& 61,200
OuWSEXNE =HEXteg Sl 5,200
Ot SAZ
500,000 1204 & 6,000
202 04| 6,760 8,200 1,440
01 =LHOHI 6,760 8,200 A1,440
OusSHR=X
20,0002 6 * 124 S 4 5,760
OSEAHZZ2C gF 2 2AEE
50,0002 %102+ 1,000
FoIFMN M NSE) 16,000 16,000
401 AIEHIX R0 16,000 16,000
01 A28l 16,000 16,000
(OFSES i 16,000
— =02 HAZFE X MY
16,000,000 * 14! 16,000
WEANSI| EXIAM(HES) 30,000 30,000
401 Al HIZL 01| 30,000 30,000
01 Al&HI 30,000 30,000
OunsasI| XA (BES) 30,000
s X2 5,297,150 5,573,516 N276,366
= 367,000
= 694,000
Il 74,147
= 271,070
Ea 3,900,933
=243 NH 13,632 3,779 9,853
= 4,090
o 9,542
301 EetE NS 13,632 3,779 9,853
== 4,090
o 9,542
4 JIE2 8= 13,632 3.779 9,853
OHAIRS Jtex2 K& 11,520
< 3,456
= 8,064
OHAIRS It =E)| Stz K& 2,112
= 634
Ea 1,478
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2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

sHEHAXIA

HH W

1,775,000
270,000
123,000

1,382,000

1,641,400

307 212t01&

HoH W

1,775,000
270,000
123,000

,382,000

—

1,641,400

133,600

M H

M

1,775,000
252,000
623,000
123,000
500,000
900,000
270,000
630,000

1,641,400

133,600

S

M

278,764
74,147
204,617

334,519

AB5,755

307 212t01&

278,764
74,147
204,617

334,519

AB5,755

H

218,764
218,764

74,147
204,617

334,519

ADB5,755

Mo

2,642,418
694,000
111,800

,836,618

—

2,555,000

87,418

M

1,330,000
135,000
,195,000

—

1,325,000

5,000

Mo

—

,330,000
1,330,000

135,000
,195,000

—

1,325,000

5,000

307 212t01™

HOH

—

,312,418
559,000
111,800
641,618

1,230,000

82,418

—

,312,418
,312,418

—

1,230,000

82,418
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SN ALDED
g NSHE A
el Uisus Nd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 569,000
=S 111,800
s 641,618
HAREAAE(BIS) 22 22,237 21,178 1,059
308 XtXIEMSO0IH 22,237 21,178 1,059
13 SIS0t 4 A AS A 22,237 21,178 1,059
OHAZEAIAH(BIS) SXIEHI 22,237
Hsus 2SN 164,999 228,918 263,919
201 Ler2&| 36,620 36,620 0
01 At2teltl 35,420 35,420 0
OgAlllE 2882
70,0002 *32CH* 1204 26,880
OHAIOIE 238 Fa= MR
220,000 »32CH 7,040
O3 EHOIE 2X22(22E ) 1,500
2 5234l 1,200 1,200 0
OHUIE HdESada Al 0I8=
50,0002 <201 2% 120K 2 1,200
307 @120l & 98,000 89,960 8,040
09 2FHHEXS 98,000 89,960 8,040
O=&HOIE 2etza| 21,000
O38H0IE &4 & 2el 77,000
308 XXM SO0l 30,379 338 30,041
07 AX R FE= 30,000 0 30,000
OsSHEHA AXEAL 2FH]
30,000,000& x14] 30,000
18 SIS0t HAS A 379 338 41
ORAIZHIEE2ACIANAE 2SI 379
sHEX= XE 192,000 508,722 A316,722
307 212+01& 192,000 508,722 A316,722
09 2FAHEXS 192,000 508,722 A316,722
ORIIEE3 Xs 192,000
— 0424 4,000,000& ~12& 48,000
—3t= 12,000,0002 122 144,000
Az SEusSst 2488 N& 68,000 0 68,000
= 30,000
s 38,000
307 212+01& 68,000 0 68,000
= 30,000
Ea 38,000
05 21t = 68,000 0 68,000
OSgus=H 29| X2 68,000
= 30,000
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AN AZUSH
M pEHE M
el sus A (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
| = 38,000
A2 SEuSst =28 X2 98,500 0 98,500
= 49,000
= 24,500
Ea 25,000
405 KHoHFSHI 98,500 0 98,500
= 49,000
= 24,500
= 25,000
01 MMM ESFSHI 98,500 0 98,500
OSERESS X2 72
49,250,000 +2CH 98,500
= 49,000
= 24,500
= 25,000
UHEnSHl SSX2A (k-THA) 16,000 0 16,000
= 8,000
o 8,000
308 AtXIEMSOIE 16,000 0 16,000
= 8,000
o 8,000
13 SI[2S0He 4 A AS A 16,000 0 16,000
OtisnsH SsSX3(K-THA) At X1 16,000
= 8,000
= 8,000
HAXSIEIDIE AIE=2 HHIAMY 25,600 0 25,600
= 7,680
Ea 17,920
402 I2FX=01 & 25,600 0 25,600
= 7,680
o 17,920
02 BIENZASEZ(0IETHR) 25,600 0 25,600
OF=HAEDIE AMEE EHIAIE 12,800
== 3,840
[Ea 8,960
OFAHAEHTIE AlE= ZHIAE 12,800
= 3,840
= 8,960
QANWE #HXE 136,824 120,500 16,324
= 80,324
o 56,500
SSHEAl XIEAS 136,824 120,500 16,324
== 80,324
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AN AZUSH
33 IS i
gelr 2Xus X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 56,500
301 EtE NS 136,824 120,500 16,324
=S 80,324
s 56,500
14 0Bt 2as 136,824 120,500 16,324
OS==HAl XA 136,824
< 80,324
Ea 56,500
WSEANEE 9,500 34,500 225,000
= 1,050
< 1,050
[Ea 7,400
nNSENEY 2,500 22,500 /20,000
307 elztol & 2,500 22,500 /20,000
02 LB HAHE L 2,500 22,500 A20,000
ozdg=ditzl A& 2,500
VYA 2HE6Is AdEY X2 7,000 12,000 25,000
= 1,050
< 1,050
= 4,900
301 EtE NS 7,000 12,000 25,000
= 1,050
== 1,050
o 4,900
14 JIEt2 8= 7,000 12,000 25,000
OeldElE X 200,000& »35H 7,000
= 1,050
=S 1,050
s 4,900
gi=2cel &4 443,200 425,200 18,000
Jl22ots 4X 2¢ 443,200 425,200 18,000
2s 2l 443,200 425,200 18,000
201 er2 3| 4,200 4,200 0
02 S3=4gHl 4,200 4,200 0
OJI2(EehHS SEBAMOAIAY Salbl
350,000& 12043 4,200
401 AIEHIZ SR OHYI 439,000 421,000 18,000
01 Al&HI 436,000 418,000 18,000
OII2(EoHS EXISAt
1,800,000 *1107H 198,000
Oz (2eHS RALS SAk 168,000
OJI2(2ehHS EA 2L 50,000
OJt2(2ehHS ®II-8H HIIEH B SAt 20,000
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FAN AZUSH
M g2el =4
=2Hel JIREets 4Xl 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al 20HHI 3,000 3,000 0
OJ=2(EehHE At A=Y 3,000
HH2LZH(ALnSH) 41,704 37,202 4,502
el 23 4,450 4,450 0
C2aelE 2E| 4,450 4,450 0
201 =3 2,450 2,450 0
01 AtR2t2lt] 2,450 2,450 0
Oz 2eld II=sl 2,450
—ot&J| IIs g 150,000 +7& 1,050
—s&J| s 7Y 200,000 7 1,400
202 04| 2,000 2,000
01 2K 2,000 2,000
Oz =X&el odl 2,000
J1I=288l 37,254 32,752 4,502
JI=23Hl 37,254 32,752 4,502
201 =3 27,744 21,964 5,780
01 At22t2lt] 27,024 21,244 5,780
Otlz2+=g 762,000 x4=2 7| 3,048
O=ALEX 30,0002 x258t A% 123 9,000
OSAD| B2 880,000 * 12 10,560
OARESSHI 1,500
O&=J| 2= 63,0002~ 12 756
O33838J| itz
38,0003 *4CH* 122 1,824
OAHLIHA X2 28,0002 1CH* 122 336
02 s3=gHl 720 720 0
OCIHUZXMAIN OlEk=
40,000 * 122 480
OZEE S 2ENE HE 0|SSHRS
20,0003~ 122 240
202 04dl 4,704 6,090 N1,386
01 2L AL 4,704 6,090 1,386
OR A2 =LY
20,0002 x28H 122 »7(f% 4,704
203 =] 4,806 4,698 108
M FA2HLRFEI 4,806 4,698 108
ORKA2g g4l
445,000 * 122 *90% 4,806
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